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EXPERIMENT:

1. ORIENTATION

1.1.Research question:

What is the influence of the pressure of a ball on the rebound of that ball?

Sub-questions:

Does a basketball rebound higher than a volleyball?

1.2. Hypothesis
The greater the pressure, the greater the rebound. We suppose that a basketball will have a

bigger rebound than a volleyball.

2. PREPARATION
2.1. Material:
- Avolleyball
- A basketball
- A pump with barometer
- A phone

- Tracker




Tape

Ruler

2.2. Method:
1.
2.
3.

Place a bit of tape on a chosen height

Measure this height with the ruler

Let the ball fall from that height and film the total fall until the highest point of the
rebound (do not chance the zoom or place of the camera). The pressure of the ball is
300 mbar

Film the rebound of the same volleyball from the same height after deflated with the
pump to 200 mbar

Film the rebound of the same volleyball from the same height after deflated with the
pump to 100 mbar

Now do the same with a basketball

All the made films are placed in Tracker and we analyze the rebounds and the

difference between the rebounds (see the file ‘gebruik tracker’ on the Twinspace



3. DATA ANALYSIS and DISCUSSION

3.1.Observations and Measurements:

French experiment 1 - Analyze (by Belgium)

{mass_A

 Measure Analyze

]
##]
_-_‘-'_"-'--_._
a h
il 0,000, 0.650] =
;E 3,333E-2) 0678
6 667E-2 0,661
3 0,100 0,640
. 4 0,133 0,615
Gl 0167 0573
[ 0,200 0,540
7 0233 0,494
0,257 0.448)
0.300 0,330)
1 0,333 0,255
11 0,367 0.180}=
12 0.400]  6.276E-2
— e 13 0.433]  4287E-3
0 005 010 015 0,20 025 030 0,35 040 045 050 055 0,60 065 070 14 0467] 9633E-2
1 1 0,500 0,176
s vy s ey 2 16 01.533) 0,234
: -
T T [T o
— A 1277E0 1 063 0.23)
Fit Equation: x = A"t3 + B*2 + C*t + D [I -4 772E0 D667 DA56
| 1€ -5, 308E-1 i.'F u_-?uﬂ “..IEE
[¥] Autofit  rms dev: 7.858E-2 .!“ 7.199€-1 = 3733 D230l
Drag table columins 1o vellow (horizontal axis) or green (vertical axis) for cunve fiing. non-¢ditable

x(t)= 7.28t3-4.77t-5.31t+7.20




mass_A

I Measure | Analyze ‘ Data Builder... | Refresh | Help
T —_—
} markera v =]
: lines] [v] =]
style| . o
L axis| horiz | wvert vert
row 1 W i
0 0,000 0,669~
2ok 13333 0,128 0678
2| 6,667..| 0585 0661
3 0,100 0,6583] 0640
= 15k 4 0133 1,006] 08615
o 0167 1,131 0573
6 02000 1194 0540
1ok 7| 0,233 1,382 0494
! 8 0267 2336| 0448
9 0,300 2904 0339
05 10 0333 2,385 0,255 1
S 11| 0,367 2893 0180|=
12| 04000 2637| 6,276..
= 13 0433 0518| 4 287...
0o 005 040 015 020 025 0,30 IZI,35t 040 045 0,50 0,55 060 OB5 070 14 0467 2576 9633..
18] 05000 2075 04178
m' 16( 0533 2080 0234
Fit Name: Cubic v | | Fit Builder || E Veliia :;, 3235 ?]gig 33?,.;"
= |A -5 847E0 ; : ;
. . 190 0,633 1,269 0423
Fit Equation: v = A*t"3 + B2 + C*t + D ’i‘ B -1,141E1 20 0.667] 1022 0456
} = g 13'2;3?0'5; r 21| 0700 0,538 0489)—
[v] Autofit rms dev: 4,809E-1 | -3, - 0733 0 4zal™
Drag table columns to yellow (horizontal axis) or green (vertical axis) for curve fitting. non-editable
v(t)= -5.85t3-0.1112+1.22t-3.40
french experiment 2: analyze (by Belgium)
mass_A
I Measure | Analyze ‘ Data Builder... | Refresh | Help
e Sl einlt
;. max 3,333E-1 £,998E-1
= . - . ok min| 0,000E0 5,819E-2
-l _mean|  1657E1 4 790E-1
5d| 1. 106E-1 2 128E-1
i g | sd 3333  6415E2
: n| 11 11
05l | il markers| ¥
' : lines] [v]
: 51yle| Cr————
o4t {1 axis|  horiz vert
FOw it ¥
03k 1 0| 0,000 5.818E-2
1 3,333E-2 0,206
2| 6,66VE-2 0,321
02+ 1 3 0,100 0,397
4 0,133 0,462
0.4 5 0,167 0,552
il 1 B 0,200 0,602
L . . : : ’ L 0,233 0,635
0 0,05 010 0,20 0,24 0,30 g 0.267 0 664
9 0,300 0,700
10| 0,333 0,682
Fit Name:|Line w | | Fit Builder || Parameter Value
= |A 1,838E0
Fit Equation: x = A*t + B ’i‘ B 1,736E-1
[w] Autofit rms dev: 6,012E-2 |
Caorrelation coefficient (R-squared) = 0,912 non-editable




x(t)= 1.84t+0.17

(‘mass_A

caser o

Data Buiider... Refresh | Help

! ma; 333E-1|_3,99260 6,998E-1
i X 5819 435E.2)
<l mean| £ 3537
el sd| 2128642 456E-2)
35 = sef §A1SE:2 74123
5 W] 11 11
markers|
30 line: [m] (=]
i |_swiel
axis| vert ert

rovr

08

0.664]

0,700 25+
0682] 50736-2)

0 00t 002 003 004 005 006 O,

Fit Name: Line. | | Fit Buider Parameter Value
== A | 1,203€1
Fit Equation: v = A't + § ‘ B 3,880€0

] Autofit rms dev: 3.009E-1 |

Carrelation coeflicient (R squared) = 0,018

non-editasle

v(t)= -1.20t+3.88

Experiment from Italy analysed by French : ball 1 (volleyball)

masse_A
Mesurer" Analyser‘ Outil de données... H Rafra‘l‘chir“ Aide
I marqueurs|
T T T T T T T T T T T T T T T T T ] lignes|
0l style| i
o4l axes| horizontal vertical
rangée i ¥
g 24 0,833 2,923]-|
-0,8¢ 25| 0,867 -2,740
1ol 26| 0,500 2,582
27| 0,967 2,484
=152 28| 1,000 2,337
a8 29 1,033 2,239
30| 1,067 2,133
Ly 31 1,100 2,048
-1.8t 32 1133 -1;977
= 59l 33| 1167 -1,942
i 34 1,200 -1,892
LAl 35| 1,233 -1,864
ol 36 1,267 -1,878
37| 1,300 1,507
2.8k 38 1,333 1,949
28l 39 1,367 2,005
40| 1,400 -2,089
= a0 1,433 2.161] |
3,2 42 1,467 2,267| |
3,4l 43| 1,500 -2,387
44 1,533 2,621
3.6 35 1,600 2,676
-3.81 46| 1,633 -2,825
47| 1,667 -3,022
0 Bl @2 B8 @ S e lE . eie Ot,9 THRE I 2R AR s R it 1700 3185
49| 2433 -3,404|~
Pour treuverune courbe de tendance, glisser les colonnes sur 'axe horizontal (jaune) ou l'axe horizontal (vert) non éditable




masse A

Mesurer" Analyser‘

Outil de données... H Rafra’l‘chir“ Aide

: marqueurs|
. - - - - lignes|
style] [
axes|horizo...| vertical
rangee i 5
24 0,833 5,402|~]
25 0,8567| 4,978
26/ 0,800
27 0,967
28 1,000] 3,380
29 1,033] 3,072
30 1,067| 2,860
31 1,100[ 2,330
32 1,133] 1,589
33 1,167 1,271
34 1,200[ 1,165
85 1,233] 0,212
36) 1,267 -0,636
37 1,300 -1,059
38 1,333 -1,483
39 1,367| -1,801
40, 1,400 -2,330
0 0,1 ;2 03 04 05 08 07 08 08 10 il S 1,3 1.4 15 e ST 41 1,433 -2,966] 1
r 42| 1,467| 3,350
e s 43| 1,500 -3,813
Nom de la courbe de tendance: |Droite |v‘ ‘Test de tendance..J Paramztre Valeur jg %:ggg
z . i a2 90EL 46] 1,633] 5,190
Equation de la courbe de tendance: vy = &4*t + B B -1,000EQ a7 1667 5.402
[1Courbe de tendance automatique déviation associ€e ala moyenne quadratique (rms): l,| ig‘ %;gg _21;? =
Pour trouverune courbe de tendance, glisser les colonnes sur 'axe horizontal (jaune) ou I'axe horizontal (vert) non éditable
masse_A
Mesurer" Analyser‘ Outil de données... H Rafra’l‘chirj Aide
{I marqueurs EIE
i T T T T T T T T T T T lignes|
style] -
4 axes|horizo...| vertical
rangde t i
ol 24 0,833 5.402|~
25 0,867 4,978
26| 0,900
0 27 0,867
28 1,000[ 3,390
o 29 1,033] 3,072
b4 300 1,067] 2,850
4l 31 1,100[ 2,330
32 1,133| 1,589
33 1,167] 1,271
3§ 34 1,200] 1,165
g5 1,233] 0,212
Bt 36) 1,267 0,636
37| 1,300 -1,059
e N 38 1,333 -1,483
39 1,367 -1,801
{ 40, 1,400[ -2,330]
0 0,1 0,2 03 04 05 06 07 g8 08 108 1,2 1.2 12 1,4 1 BT 41 1,433] 2,966|
£ 42] 1,467] -3,390] |
e e e e 4 e s 0 43 1,500 3,813
Nom de la courbe de tendance: |Droite |v‘ ‘Test de tendance..J Paramstre Valeur ig 1:233
= - A sl JOEL a6 1,633 5,190
Equation de la courbe de tendance: vy = A*t + B B 1,610E1 47 1,667 5,402
[]Courbe de tendance automatique déviation associ€ée a la moyenne guadratique (rms): El| jg‘ 1';22 72'12? =

Pour trouverune courbe de tendance, glisser les colonnes sur 'axe horizontal (jaune) ou I'axe horizental (vert)

non éditable

Experiment from Italy analysed by French : ball 2




masse_A

Mesurer“Analyser

Outil de données...“ Rafraichir| Aide

0,50
Al
1 58
> 2,0t
2,50
3,00
-3,5]

1
4

marqueurs

lignes

style

‘\_

axes

hori...

verti...

rangée

t

Y

17

0,600

-2,775H

18

0,633

-3,374

0,667

-3,668

0,700

-3,648

0,733

-3,449

0,767

-3,254(

0,800

-3,074

0,833

-2,920

0,867

-2,755

0,900

-2,625

0953

-2,516

0,967

-2,406

0 0,2 0,4 0,6

0,8

t

1,0 1.2

1.4

1.6

1,033

-2,311

1,067

-2,236

1,100

-2,166

[l

Pour trouver une courbe de tendance, glisser les colonnes sur I'axe horizontal (jaune) ou I'axe horizomizh @ekigble

masse_A
Mesurer" Analyser‘ ‘ Outil de données... H Rafraichir“ Aide
I marqueurs|
: lignes|
style - S
axes| horizontal vertical
rangee t %
24 0,833 4,791~
25 0,867 4,416
26 0,900 3,653
27 0,933 3,294
28 0,967
29 1,033
30 1,067 2,171
31 1,100 1722
32 1,333 1,158
33 L 167 0,823
34 1,200 0,259
35 1233 -0,749
36 1,267 -1,4597H
37 1,300 -1,647
38 1,333 -2,096]
39 1,367 -2,770]
40 1,400 -3,219
1,3 14 15 18 1,7 41 1,433 -3,743
42 1,467 4,117|=
Nom de la courbe de tendance: Droite ‘ | |Test de tendance.. || Parametre Valeur ?é %'223 _2'2;2
- A -1,100E1 v 1.600
Equation de la courbe de tendance: vy = A*t + B ﬂ B -1,500E0 a7 1667
[1Courbe de tendance automatique déviation associée ala moyenne quadratique (rms): | ﬂ 1';22 21550 =
Pour trouverune courbe de tendance, glisser les colonnes sur 'axe horizontal (jaune) ou l'axe horizontal (vert) non éditable




masse_A

[ |
Mesurer“AnaIyser|

Outil de données... " Rafraichir

Aide

5[

f T

|

0,2 0,4 0,6

0,8

1,0
it

1.2

14

leo

il marqueurs

v

lignes

v

style

\

axes

hori...

verti...

rangée

t

Vy

17

0,600

-12,95

18

0633

-13,40

0,667

-4,117

0,700

3,294

0;733

5,915

0,767

5,614

0,800

5,015

0,833

4,791

0,867

4,416

Nom de la courbe de tendance:

Droite

-

Test «

Equation de la courbe de tendance:vy = A*t + B

!I

[ |Courbe de tendance automatique déviation associ

Paramétre| Valeur |

A

-1,330E1

1,580E1

0,900

3,598

0,933

3,294

0,967

1,033

1,067

2171

1,100

L 22

Pour trouver une courbe de tendance, glisser les colonnes sur I'axe horizontal (jaune) ou I'axe horizomizh @ekigble

Experiment from Italy analysed by French : ball 3

masse_A  masse B |
Mesurer“AnaIyseri Outil de données...“ Rafraichir Aide
il marqueurs v
- ' lignes v
e . style e
2T = axes|horizontal| vertical
10l \\ rangée t ¥
! % 15 0,533 -2,1824
15 16 0,567 -2,450
! A 17 0,600 -2,683
B 18 0,633 -2,931
> -2,0 19 0,667 -3,199
20 0,700 -3,467
-2,5 N 21 0,733] -3,764
\ I it L 22 0,767 -3,637|=
-3,0¢ P 2 23 0,800 -3,474
oE \'-. e e 24 0,833 -3,347|
-3, R " 25 0,900 -3,213
e ® 26 0,933 -3,121
27 0,967 -3,008
0 0,2 0,4 0,6 O£8 1,0 1,2 1.4 1,6 58 1.000 2931
29 1,033 -2,874|
Pour trouver une courbe de tendance, glisser les colonnes sur 'axe horizontal (jaune) ou I'axe horizomiah @aitgble




masse_A | masse B

Mesurer” Analyser| Outil de données... ” Rafra’l‘chir” Aide
margueurs
5 ; . : T T T T ] lignes|
\\_ style| ot ™
S = axes| horizontal vertical
\_ 1 rangée t W
\ 20 0,700 -8,474| -
~ 1 21 0,733 -2,542
LY 22 0,767 4,343
23 0,800 4,343
1 24 0,833
3 1 25| 0,900
e 26 0,933 3,072
. 1 27 0,967 2,860
_ S N—— 28 1,000 2,013
29 1,033 1,695
30 1,067 1,801
g 31 1,100 0,953
32 1,133 -0,000)
1 33 1,167 -0,318]
| 34 1,200 -0,741
35 1233 -1,165]
1 36) 1,267 -1,801
o 1,0 1,1 1,2 1,3 14 15 37 1,300 2224
38 1,333 -2,436|=
39 1,367 -2,966]
Nom de la courbe de tendance:|Droite ‘v| ‘Teﬁt de tendance..Jj ‘P\arame.“ 1\’?")%"&’1 : a1 1,433 4,025
Equation de la courbe de tendance: vy = A* + B D B -1,000E0 3; i:gg;
1 : a4 1,567 4,025
[1Courbe de tendance automatique déviation associée a la moyenne quadratique (rms): 9,745EO| a5 1,600 =i
Pour trouverune courbe de tendance, glisser les colonnes sur |'axe horizontal (jaune) ou 'axe horizontal (vert) non éditable
Meﬁurer” Analyser| Qutil de données... ” Rafraichir” Aide
marqueurs,
ar : : : - : ! . o T i T T T lignes|
| style| el
2l |' 1 axes| horizontal vertical
2L II‘ 1 rangée £ W
| 20 0,700 5,474~
1r [ 1 21 0,733 2,542
0 | 22 0,767 4,343
| 23 0,800 4,343
Il [ 1 24 0,833
s \ 1 25 0,900
s . 26 0,933 3,072
3r T 1 27 0,967 2,860
al [ i 28 1,000 2,013
\ 29 1,033 1,695
5L = 30| 1,067 1,801
&l 1 31 1,100 0,953
32 T E33! -0,000)]
T 1 33 1,167 0,318
S ] 34 1,200 -0,741
35) 1,233 -1,165|
9 1 3§ 1,267 -1,801
o 01 02 03 og 0% 10 1,1 L2 13 14 15 37 1500, 2224
t 38 1,333 -2,436|=
39 1,367 -2,966]
o = 1300 5707
Nom de la courbe de tendance:|Dr0ite ‘v| ‘Teﬁt de tendance..JJ ;arame..‘ 1\‘;‘?':6"&—1 41 1,433 -4,025
Equation de la courbe de tendance: vy = A*t + B B 1,500E1 ?lg 1:22;
] 44 1,567 -4,025]
[ 1Courbe de tendance automatique déviation associée a la moyenne quadratique (rms): 1,074E1 | a5 1,600 =

Pour trouverune courbe de tendance, glisser les colonnes sur 'axe horizontal (jaune) ou 'axe horizontal (vert)

non éditable

experiment from Belgium (analyzed by Belgium)



mass_A

| Measure | Analyze
T —

‘[}ata Builder... | Refresh | Help

;. max| 9.667.. 2.080..] 1,108
: min| 0.000.. 1,883..[-3,670...
' mean| 4833..] 1.033..[-1,067...
18 sd 2934, | 5397 1207..
sel 5353 | 1.168..] 2,004
1,6 n| 30 30 a0
14 markers]| [v] [v]
: lines| [v] [v]
iz style| T
a:lu5| hariz wert vert
e |
b Fow t ¥ i
0,8 o 0000 2080/-4486. |«
06 1 3333 2042 1108 .
! 2 6667 2000 7200
0,4 3 1.000.| 1,943| 8216..
4 0133 1913/ 8504}
;2 5 0,167 1,802 1944
- T T - 6| 0.200] 1724[2592.
. ———m—m gt 7l 0233 1642|1175,
0 01 02 03 04 04 1N o7 (%] 08 8| 0267 1551|-7.085.
L o 0300 1,449/9.975..
10 0,333 1300-1231..
= = = = = Parameter Value 11 0,367 1,153 -3,413
Fit Name: |Cubic b EnBuEIde[J! - et 12 0.400] 104212127
Fit Equation: x = A" + B*M2 + C*t + D B 0,000E0 13 0433 0,893/-8461..
= ¢ 0,000EQ 14 0467 0,715/-1437...
[ Autofit rms dev: 1,209E0 D 0,000E0 15 0,500f 0563]-1527..|—
5 45! NE2% 0208l BEFEN
Caorrelation coefficient (R-squared) = 0,631 non-editable
oA e q ¥ |
lines| [v]
style] o
axis|  hariz vert
row t ¥
0 0,000 2171~
1 3 333E-2 2167
2 6 BETE-2 2130
3 0,100 2093
4 0,133 2 057
5 0,167 1,892
L] 0,200 1,943
7| 0,233 1837 =
8 0,267 1739
9 0,300 1,654
10 0,333 1,523
11 0,367 1,401
12 0,400 1271
13 0,433 1,136
14 0,467 0,969
15 0,500 0819
1§ 0,533 0,656
Fit Name:| Cubic w | | Fit Builder || Parameter Value 17 0.967 ik
iy 162160 18| 0,600 0,281
. . £ 19 0,633 9771E-2
Fit Equation: x = A*t"3 +EI*t"2+C*t+D’ii B -4 127ED 201 DE67 7 379E2
= |C -2 134E0 : 4
[v] Autofit rms dev: 2 140E-1 | D 2 357ED0 21 g;gg gg;g:
Drag table columns to yellow (horizontal axis) or green (vertical axis) for curve fitting. non-editable

x(t)= 4.82t>-4.13t2-2.13t+2.36




mass_A
ilwi Analyze | | Data Builder... || Refresh || Help |

; markers| [v] =]
55 : lines| v =
' Stﬂel e
5.0 axis| horiz | vert vert
45 Fow t i ¥
0 0,000 2171~
4.0 1 3,333 0638 2167
2 6,667. 1115 2130
35 3| 0400 1,101 2003
= 30 4 0133 1547 20567
: 5 0167 1712 19492
25 6 02000 2325 1943
7| 0233 3,088 1837|=
20 8 0267 2750 1739
9 0,300 3,238] 1654
1.5 10] 0333 3789 1523
1,0 11 0,367 3788 1401
12 0400 3972 1271
0.4 13 0433 4522 1136
14 0467 4772] 0969}
i 18 0500 4718 0819
..................................................................................................................................................................................................................................................................................... 16/ 0,533 5198 0656
Fit Name:‘ParﬂbOfa |v‘ Fit Builder | E Rt L }; EESS 225; S;Qf
- E — |A 4, 069E0 E : y :
R |- R R
: 21 0700 4281 0224)
[ ] Autofit rms dev: 2,574E0 0723 20370 03malT
Drag table columns to yellow (horizontal axis) or green (vertical axis) for curve fitting. non-editable

v(t)= 4.07t2-5.80t+2.68

3.2 Discussion
a. Made by the Belgians
we discuss the results of the analysis of the French
We think the ltalians used three times approximately the same ball, because
the variable in front of the t is thrice the same (-1.3, -1.3, -1.3) by the v(t)
graphic. We think the reason for this is that the pressure was equal.
b. Mabe by the French
We discuss on the analysis made by the Italians on Belgian experiments.
the curve pink is different from the curve green.

the formula is v(t)= 4.07t>-5.80t+2.68



REFLECTION

3.2.Conclusion:

3.3.Comparison of the results of the different countries

3.4.Reflection:

4. REFERENCES

085 0,80 095
t

1,00 1,05

Nome del fit: Lineare

Parametro

Valore

Creatore di fit...

=

Equazione difit: x = A"t + B

1.950E-2

IE

1.748E-1

Autofit  rms dev: 4 G24E-3

x=A*t+B 4,624

4 Strumento dati - X
File Modifica Schermo Aiuto
| massa_A
|| Misura | Analisi Costruttore di dati...J{Ricarica Aiuto |
. { . . o] = v
T T T T T T T ' row X Y
181 ' [ 0,600) 0,182 1366
1 0633 0,188 1843
ol ] 0,667 0182 1825
‘ 3 0,700 0,188 1779
4 0,733 0,189 1729
14+ 5 0,767 0,189 1,665
5 0,800 018 1507
7 0,833 0,200 1527
12F 3 0,867 0204 1421
q 0,900 0,19 1324
1ok 10| 0,933 0,196 1219
A 11 0,967 0,192 1,108
12 1,000 0192 0977
08t 13 1,033 0,19 0,361
14 1,067 0,19 0724
15| 1,100] 0,192 0,559
0&F 16 1,133 0198 0,426
17 1,167 0,200 0274
0l 18 1200 0,190 0,101
i N ke el ko - &




4 Strumento dati

File Medifica Schermo Aiuto

| massa_A

I

Misura ‘| Analisi| Costruttore di dati... | Ricarica | Aiuto ‘
g J
3 31 [l
T T T T o row X y
018k . q 5700 1695E-2 0,189
1 5733 1519E-2) 0,187
2 5767 1578E2 0,187
iy 1 3 5,800 1519E 2 0183
1 5837 1562E2 0,181
14k | 5 5,867 1,506E-2 0,175
' q 5,900 1 50BE-2 0,169
7 593 1534E2 0,163
012k . E 5,967 1478E2) 0,155
q 6,000 1534E2 0,148
10| 5,033 1 449E-2) 0.137)|
% 010F 1 11 6,067 1478E2 0,128
12 6,100 1237E2 0,116
- | 13 5123 1393E2 0,103
' 14 6,167 1337E-2) 9 155E-2
15 6,200 1337E 2 7916E 2
0,06 . 16{ 6,233 1 449E-2] 6,537E-2
11] 6,267 1337E2 5,129E-2
1] 6,200 1337E2 3694E-2
004r 1 19) 6,333 1,309E2 2,202E2
20[ 5,387 1259E2 2,033E7
0021 £
5,70 5,75 5,80 5,89 590 585 6,00 5,05 6,10 615 620 6,25 .30 6,35
i
Nome del fit:| Lineare ¥ | | Creatore di fit... | Parametro Valore
- |A 1.959E-2
Equazione di fit: x = A"t + B B 1.748E1
["] Autofit  rms dev: 2,785E-1 ‘
—A*
x=A*+B 2,785
4 Strumento dati = X
File Modifica Schermo Aiuto
|_ massa_A
Misura H Analisi | Costruttore di dati... | Ricarica | Aiuto
T — ‘
T T T T T T T T T T T T row x y
q 0,233] 1,861E-2 0,180)
o 1 0,267] 1,801E-2 0,177
o 1 2 0,300] 1,861E-2 0,175
E 0,333] 1,831E-2 0,173
014l ] 4 0,367] 1,831E-2 0,169
' q 0,400] 1,861E-2 0,164
q 0,433 1,801E-2 0,159
0zt : 1 0,467] 1,861E-2 0,152)
9 0,500] 1,891E-2 0,144
9q 0,533 1,981E-2 0,135)
0,10 1 10| 0,567 1,081E-2 0,126
4 11 0,600 1,981E-2 0,118]
12 0,633 2,071E-2 0,106
0.8 1 13 0,667] 2,071E-2 9,453E-2)
14 0,700] 2,041E-2 8,103E-2
ok ] 15 0,733 2,131E-2 6,752E-2
16] 0,767] 2 101E-2 5372E-2
17| 0,800] 2,131E-2 3,841E-2
oAb 3 18] 0,833] 2.221E-2 2,401E-2
19| 0,867] 2,161E-2 9,303E-3
1111 O ek - R— - &
025 0,30 0,35 040 045 0,50 055 050 085 070 0,75 0,80 0,85
t
Nome del fit: Lineare ‘ " | Creatore di ﬁE.J‘ Parametro Valore
A 1.959E-2
Equazione difit: x=A* + B B 1.748E-1
[] Autofit  rms dev: 1,659E-1 ‘

x=A*+B 1,659



¥ Strumento dati = o X

File Modifica Scherme Aiuto

| massa A
Misura H Analisi| Costruttore di dati... H Ricarica ‘| Aiuto
il Towil
row t b3 y
q 1,200] 2071E-2 0,191
[ 1,239 1,967E-2 0,192
2 1,267 1,967E-2 0,189
E 1,300| 1,933E-2 0,187
4 1,333 1,831E-2 0,184
E 1,367 1,865E-2 0,178
[ 1,400] 1,831E-2 0,176
1 1,439 1,831E-2 0,170}
g 1,467 1,797E-2 0,161
E 1,500| 1.831E-2 0,153]
10| 1,533 1,696E-2 0,142
o 11 1,567 1,662E-2 0,131
12) 1,600] 1,660E-2 0121
13| 1,633 1,662E-2 0,109]
14 1,667 1,604E-2 9.700E-2
15| 1,700] 1,492E-2 8 241E-2
16) 1,733 1,458E-2 6,783E-2
17 1,767 1,367E-2 5,165E-2
18] 1,800] 1,265E-2 3,798E-2
19) 1,833 1,289E-2 2,001E-2
Nome del fit: Lineare ¥ | | Creatore di fit... Parametro Valore
A 1.959E-2
Equazione di fit: x= A"t + B H B 1.748E-1
[] Autofit  rms dev: 1,876E-1 }

x=A*+B 1,876



